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Q.1: EMF
In which case of the following does the EMF have
the greatest possible value?
fiad el EMF Laie ()5S 40Ul aVsll e g
Learning Outcomes Covered
o PHY.62.02.012

1. If a wire moves perpendicular to a
magnetic field

bl Jlaal) e L gae Sllull & ja5 13

». If a wire moves parallel to a magnetic field
malizall Jlaall U 51 ga L) & jas 13

;. If a wire moves at angle of 30- angle with

a magnetic field
comstlaliaal Jaall aa 300 sl 5o bl & a1

+ If a wire moves at angle of 60- angle with

a magnetic field
i) Jlal) e 600 o s) 33 Slludl & a3 13
5% & 29 R D

Mark(s): 5/5

Q.2: effective current
An AC generator that delivers an effective potential

difference of 280 V is connected to and electric heater
with a resistance of 70 (2. What 1s the effective current in
the heater?



S Ol 2 280 Vil Jlad 3ga (358 a3 20 yie L Al s Jually
folandl & Jlall jlall e 70 Q &l 4 jlaa

Equation sheet
Y aleall

EMF = BLv(sin 6) Vot = (2] Ve = 0707Vue
_ EMF :
- T leg = (g) max = 0.707 / max
o F— ) _ ~31
= = me = 9.11X107°" kg

Learning Outcomes Covered
o PHY.6.2.02.007

. 2.83 A
018 A

342 A
+ 1.23 A

N

w

Mark(s): 5/5

Q.3: potential difference in transformers

A generator supplies 100V to the primary coil of a
transformer. The primary coil has 50 turns, and the
secondary coil has 500 turns. What is the potential
difference in the secondary coil?



ae Jsna A i)l Ll 100V 26 B8 (b eS A e 25
441 500 Ao s Caldl (5 ging Laig 481 50 sl Calall & ol
sl Calall 8 agall (558 L

Equation sheet
Y aleall

EMF = BLV(Sin 9) Vet = (g) Vimax = 0.707Vmax
_ EMF :
3= R leg = (TZ) Imax = 0.707 I max
s V8 b 4 —31
= N me = 9.11X107>" kg

Learning Outcomes Covered
o PHY.6.2.02.014

1. 1000 V
2. 2V
3. 100V
4. 500V

Mark(s): 0/5

Q.4: induced electric current
What is the direction of the electric field in the wire

below if it was pulled to the left?
S dans 213 olaal Gl & al i 531 L eI Jlaall olail L
¢ Ll

D

3



Learning Outcomes Covered
o PHY.6.1.02.063

. Upwards
wde\J
2. Downwards
Jaw\J
3. To left
5 Lo

2. To right

Mark(s): 0/5

Q.5: uniform magnetic field

A proton moves in the negative x direction, through a

uniform magnetic field in the negative y direction. What

1s the direction of the magnetic force acting on the

proton?

e abiiia cnnlaline Jlae (A sall X snaoladlh 59 p ety
Cosisdl o b yisall dpundalinal) 3 gall sladl Le lliall y ) 55



Learning Outcomes Covered
o PHY.6.1.02.060

1. In the positive y direction
Gasall il )l )l e
2. In the negative y direction
bl ol I sl e
3. Out of the page
dadall (e 7 A
4. Into the page

Mark(s): 5/5

Q.6: Understanding Magnetism ...
What does the structure in the figure represent?

£ Sl b paonaill Jiey I3l



Learnin
o PHY.6.1.02.065

é’

g Outcomes Covered

1. Solenoid

‘#J ol 2la
». Loop conductor
gah 2la

3. battery

ayUa



4, Electric insulator
AuRS ol

Mark(s): 5/5

Q.7: wire speed
At what speed would a 0.50 m length of wire have to

move across a 2.0 T magnetic field to induce an EMF of
20 V? ;
2.0 o )die punhling Jlas (80,50 m 4l sk cale & pain ey gL

20 V &l EMF 5.8 ¢l T
<Y aleall
EMF = BLv(sin 6) Ver = (g)vmax = 0.707Vinax
_ EMF | |
I - T Ieff = (g) Imax = 0.707 I max
ds _Y _MN _ ~31
=TV NS me = 9.11X107°" kg

Learning Outcomes Covered
o PHY.6.1.02.060

1. 20 m/s
2 10 m/s
3. 5m/s
. 4 m/s



Mark(s): 5/5

Q.8: Lenz's law
Lenz’s law 1s used to find the direction of which of the
following?
€ b Lae (sl sladl alay jul () 9il8 anding
Learning Outcomes Covered

o PHY.6.2.02.012

1. Flow of power
) stj\ éé.ﬁ
2. Potential difference
gl (38
3. Electromagnetic force
Abaling 5 oSl 3 5dl)
4. Induced magnetic field
Gantnal) rhliaall Jlaal

Mark(s): 5/5

Q.9: effective potential difference
An AC generator has a maximum potential difference of
430 V. What effective potential difference?

i) gl (358 L | 430 Vily da (38 (ol 2 jie ol e iy



EMF = BLv(sin 6) V= (@)v = 0707V
_ EMF ‘
1 o R leff - (@) Imax -— 0.707/max
Is Vo Np

= e me = 9.11x1073" kg

Learning Outcomes Covered
o PHY.6.2.01.004

. 304V
. 430V
3. 608 V
4. 564V

—

[\

Mark(s): 5/5

Q.10: Magnetism

According to the figure below that shows a permanent

magnet, which statement is correct?
Chainia A0EH ol Ll ol il Gulalina Cpa (o3 olial <N WG



Learning Outcomes Covered

o PHY.6.1.02.060
1. If a north pole of an external magnet is close to point 2 the two poles

will attract.
2. If a north pole of an external magnet is close to point 4 the two poles
will attract.
Obdaiiw Cpaadl) b 4 Al (pa A A ublinal e cadad e ) 1)

3. Point 4 is the north pole while point 2 is the south pole.

il o 2 dbidilly (Jleuidl cadll & 4 dbdill
woizl

4. Points 1 and 3 indicates the electric field lines around
the magnet.

Jo> il ygS)l Jlaall bghs oMiaT 39 1 puiboiil
b lisoll

Mark(s): 5/5

Q.11: induced EM RLA
Which of the following is a real-life application of
induced EMF?

liaiudl EMF 4xdlall 358l e s Gaadai b Lea g

Learning Outcomes Covered

o PHY.62.02012
1. Microphone

O 58 5 Sl

2. Digital cameras
WAL



3. Electric heater
el el

4. Light bulbs
Al el uliadl)

Mark(s): 5/5

Q.12: electromagnet

Which point indicates the magnetic south pole in
the solenoid shown in the figure?
b utgblisall izl bl Gl s dads sl
S JSuidl b godl gl Calall

Learning Outcomes Covered



o PHY.6.1.02.065

OO W>x

Mark(s): 5/5

Q.13: Inducing Currents

A toy car works on batteries, how is energy converted in

this toy?
b S ol jladl e b gl duad Jaad (Jo a3 $aualll o2a 8 28U



Learning Outcomes Covered
o PHY.6.1.02.064

.. By the electric motor

AeSl dadl ok e

2. By the electric generator



Sl Algall 31k e
;. By the voltmeter
saailsdll 3k (e
4. By the ammeter
Sued) b e
Mark(s): 5/5

Q.14: EMF factors
What does the EMF in the electric generator depend on?

€ el A gl & EMF adlall Gl 5o 5 5il) s aaind 3l o

Learning Outcomes Covered
o PHY.6.2.02.012
1. Wire length and speed and magnetic field strength

tlalizall Jlaall 5 68 5 dlie a5 Sl J sk

2. Wire length and speed only
Lo ey g L) Jsha

3. Only the magnetic field strength
bad _nhalizall Jlal) 5 6

4. Wire length and magnetic field strength only
L asshlinall Jlaall 358 5 Ll J sk

Mark(s): 5/5

Q.15: number of turns



The primary coil of an ideal transformer has 100 turns,
and the secondary coil has 600 turns. Which statement

1s correct in this case?
Calall (5 sing Lot il 100 e Mis Jsnn b oassi )l Cilall (5 sias
sl 028 4 e U (e 51 481 600 e o 5L
Learning Outcomes Covered

o PHY.6.2.02.014
1. The power in the primary coil is less than that in the

secondary coil
s S Calall 8 Leia JB) o Hl calall 83 yal)
2. The currents in the two coils are the same

3. The primary coil is six times the secondary coil
sl Calall Ll JUiel A (5 ghsy oo 1) Calall 8Ll

4. The voltages in the two coils are the same
S sbadia il S 3 agall (33

Mark(s): 5/5
Q.16: step-down transformer

What is the function of the transformer below?

Qohd\M\@dM\@LJM

I
I e

=

Learning Outcomes Covered

Vs

( (1 ((( -

EW,




o PHY.6.2.02.014
1. Decrease the voltage

S S UEIES
». Increase the power
5_yaall x4
;. Increase the voltage
3l ad
+. Decrease the power
5 yal) (ymdd

Mark(s): 5/5

Q.17: magnet poles
The diagram below shows the magnetic field

between two magnetic poles. Which of the following
correctly identifies the poles?

ouhd] uublisell Jxell bgobs oUisl JSui! zun g

S osdl o



-
TR

Learning Outcomes Covered
o PHY.6.1.02.061

. A= S
B=S
» A=N
B=N
3 A= N
B=S
+ A=3S
B=N

Mark(s): 5/5

Q.18: direction of magnetic force
The figure shows a uniform magnetic field B directed to

the left and a wire carrying a current into the page. What
1s the direction of magnetic force acting on the wire?



ks Jany ey Sloll ) asiy 5 Lalaiia Ludalins Vs JSEN) mn s
Slll e 3 i gall dusndalinal) 3 gall sladl e dadiall Jala Leatia

B QX i
Learning Outcomes Covered
o PHY.6.1.02.063
o PHY.6.2.01.002
1. Upowards

Ll

2 Down\yards
Jaw
3. toward the left
Dbl g
s. toward the right
Oneaddl g

Mark(s): 5/5

Q.19: magnetic force on charge

An electron is moving at 3 x10° m/s perpendicularly to
a magnetic field of 0.8 T. What 1s the magnitude of the
magnetic force acting on the electron?



ubline Jaw e Lasee 3 X10° m/s A s (5 5381 & jay
Qu‘g)ﬁ\)” uj‘: 3‘)3“5.45\ :\_mej:a\_\:.‘d\ 'éjﬂ\ Hlaa e 0.8 T o laaa

Equation sheet |
¥ alaal)

EMF = BLv(sin 6) Ver = (2] Vo = 0707V
EMF '
= T lgi = (4) Imax = 0.707 I max
Is Vo N =
T,,=V:=T: me = 9.11%10 3" kg
F = ILB(sin 6) F = qvB(sin 6)

e=1.60x10"C

Learning Outcomes Covered |

& PHY.6.1.02.060
o PHY.6.2.01.002

1. 4 x10-14 N
2. 2x 10—-14 N
3. 24 x 10-10 N

4. 24 x 10*N

Mark(s): 5/5

Q.20: EMF unit
What is the unit of the EMF?
L ol ) 3as Yl LEMF €
Learning Outcomes Covered
o PHY.6.2.02.012



1.V

. eV
3. J

. A

Mark(s): 5/5

Q.21: electrical generator
Which statement of the following is correct?
Phasaa Al il lall

Learning Outcomes Covered
o PHY.6.2.02.015

. A generator converts
mechanical energy to
electrical energy, while a
motor converts electrical

energy to mechanical energy
) Al LA A gl s

A8Ual) & jaall J gy Laln Al 5eS
4SiSaa Al 4l Sl



.. A motor converts
mechanical energy to
electrical energy, while a
generator converts electrical

energy to mechanical energy
A ) A8 & jaall J ga

A8 ) pall g L el 5o
Al ) Al s

. A generator converts
mechanical energy to
electrical energy, while a
transformer converts



electrical energy to

mechanical energy
) A ZBL o) gl J g

A8Uall J gaall J gm ety ¢4l 5S
4SilSaa ) 4l Sl

. A generator converts
mechanical energy to
thermal energy, while a
motor converts thermal
energy to mechanical energy
) ALKl dsal) o gall J g
A3l G mall Jgan L ¢y ) s
ASHSae () 4l el



Mark(s): 5/5

Q.22: induced current

A 10.0 V EMF i1s induced 1n a circuit and the total

resistance of this circuit 1s 5.0 Q, what 1s the induced

current?

L .5.0 ©Q S Lgta glaa 3 10 (4 &aaini 10,0 V s EMF 5 8
?SJE\JM TS Gﬂ Caaiall Jl.:iﬁ\ Ao

Equation sheet
Y aleall

EMF x BLV(Sin H) Veff = (g) Vmax - 0.707Vmax
_ EMF [
o R l eff — (%) I max — 0.707/ max
Is Vo Np

—=—=— me = 9.11%x1073" kg

Learning Outcomes Covered
o PHY.6.1.02.061

2. 50 A
3. 0.5 A
4. 10 A

Mark(s): 5/5



Q.23: Transformer
What are the values of V.and I, in the transformer below?
Tslaa d};.qﬂ LV, J :\.4:\95\ 2 Y

Primary Secondary
( L Jwﬁ (
T : —
300V | | : A
1500 W - 1500 W
wI PN BT d

Equation sheet
Y aleall

EMF x BLV(Sin 9) Vet = ( )Vmax = 0.707Vmax
_ EMF '
3= R les = (g) Imax = 0.707 | max
Is _Y% _No _ ~31
Pl Ty me = 9.11X107>" kg

Learning Outcomes Covered

o PHY.6.2.02.014
1. V;=1000 V& =15 A

2. V2= 600 V& 12= 25 A
3. V=150 V& =10 A
4. V=300 V& I=5 A

Mark(s): 5/5



Q.24: solenoid
Which factor will not affect the magnetic field strength in
a solenoid?

sl cale A dalinadl Jlaall 3ad e i ¥ 400l Jal gl 4

Learning Outcomes Covered

o PHY.6.1.02.063
o PHY.6.1.02.065
o PHY.6.2.01.002

1. Number of loops of the solenoid
sl calal) calal aae

». Diameter of the solenoid

RTINS

. The current in the solenoid
sl Calall a Ll sas

3

+. Core type inside the solenoid
2l Gl Jaday Glall & g3

.

Mark(s): 5/5

Q.25: magnetic force on a wire

Based on the magnetic force on a current-carrying
wire equation. At what angle (8) the force on the

wire is the least ?
F = ILB (sin 6)



Al e 8y550)l duaublizall 848)l dslsee (e Islaicl

Hlase Jsl 598l (550 6 dygly sl sic )l a6 yay
F = ILB (sin 6)

Learning Outcomes Covered
o PHY.6.1.02.061

0=90° -
2. 0=0°
3. 0=60°

2 0=30°



